## OHIO RAIL DEVELOPMENT COMMISSION

Mail Stop #3140, 1980 West Broad Street, Columbus OH 43223 John R. Kasich, Governor • James G. Bradley, Chairman

January 17, 2013

Mr. James, N. Carter Chief Engineer, Bridges and Structures Norfolk Southern Railway Company 1200 Peachtree Street NE - Office 7100 Atlanta, GA 30309

Mr. Franklin Christman Village Administrator Village of Ashville 200 East Station Street Ashville, OH 43103

Re:

Grade Crossing Surface Reconstruction Project
Pickaway County, Village of Ashville, Griggs Street
DOT# 841-432A, PID 467289
481 433A

Dear Messrs. Carter and Christman:

The Ohio Rail Development Commission of Ohio (ORDC) proposes one (1) crossing for the federally funded Grade Crossing Surface Reconstruction Program at the subject grade crossing. This location has been identified through a joint effort between NS, the Village of Ashville and ORDC.

Work performed by NS will conform to master Reconstruction Agreement number 2875 dated December 8, 1975, and Supplemental Reconstruction Agreement number 2875-A dated May 29, 1990, between the State of Ohio and Norfolk & Western Railroad except as defined by the terms of this letter agreement, and all applicable state and federal laws governing grade crossing safety programs. Construction shall be coordinated with the Village of Ashville's Griggs Street Railroad Crossing Relocation project.

The total actual costs for the improvements will be borne 90% by the ORDC and 10% by Village of Ashville and shall not exceed \$147,000.00 without prior written approval by ORDC. In addition, Village of Ashville will fund the asphalt approach work to the crossing.

Please sign and return a copy of this letter agreement. Thank you for your assistance.

Respectfully,

Matthew R. Dietrich Executive Director



www.rail.ohio.gov phone: 614.644.0306

IMPROVING RAIL TODAY FOR TOMORROW'S ECONOMY

Norfoll	Southern Railway Corporation	Village of Ashville		
By:	Palus & Baille	By:		
Title:	General Manager	Title:		
Date:	2/22/13	Date:		

Grade Crossing Surface Reconstruction Project, Pickaway County Village of Ashville, Griggs Street, DOT# 841432A, PID 94663
January 2013

Village of Ashville		
By: Charles K. Wise		
Title: Mayor of Ashville		
Date:January 22, 2013		

Grade Crossing Surface Reconstruction Project, Pickaway County Village of Ashville, Griggs Street, DOT# 841432A, PID 94663 January 2013

## NORFOLK SOUTHERN RAILWAY COMPANY

WESTERN REGION - LAKE DIVISION
ASHVILLE, OHIO - STATION STREET - MP N-684.5, DOT#
ESTIMATE FOR PROPOSED SURFACE IMPROVEMENT
WITH NS STANDARD ASPHALT AND RUBBER SURFACE MATERIAL

3 TRACK;

40 'CROSSING LENGTH

MATERIAL QU	IANTITY	<b>UNIT</b> U	NIT COST	AMOUNT
RAIL SEAL	120	TRK. FT.	60.86	7,303
ASPHALT (in place, inc. pav. cutting)	37	TONS	85.00	3,148
RAIL, 132 lb. BW	240	LIN FT.	20.71	4,970
RAIL ANCHORS	236		1.34	316
SPIKES	2.0		83.78	168
TIE PLATES	118		10.31	1,217
CROSSTIES (GRADE 5)	197	<del>_</del>	57.96	11418
BALLAST AND GRAVEL	271		7.00	1,897
GEOTEXTILE	150	LIN FT.	3.00	450
TOTAL (INCLUDES 5% INVENTORY OR	32,432			
H <b>LABOR</b>				
REMOVE EXISTING CROSSING		LUMP SUM		3,000
REHABILITATE TRACK STRUCTURE		LUMP SUM		7,158
INSTALL NEW CROSSING		LUMP SUM		8,000
FLAGGING	5	DAYS	941.00	4,705
TOTAL				22,863
TOTAL.				22,003
SALVAGE				
RAIL.	-4.6	TON	70.00	(300)
SMALL SCRAP	-1.5	TON	70.00	(100)
TOTAL (CREDIT)				
TOTAL (CREDIT)				(400)
COMPOSITE LABOR ADDITIVE (185.26%	·)			42,356
USE OF EQUIPMENT	16,004			
Preliminary Engineering, Construction Supe	33,746			
GRAND TOTAL				\$147,000

OFFICE OF CHIEF ENGINEER, BRIDGES AND STRUCTURES - ATLANTA, GEORGIA
DATE: JANUARY 4, 2013 FILE: CX0039833

Material de la companie de la Milit